M8 RS (SWRM)

RELE : 1=/ O0—LAvFx

RE AT

e O B S k C
B79-0003 M3X0.5 5.5 8 3.7 —
B79-0004 M4X0.7 7 10 4.5 0.6
B79-0005 M5X0.8 8 12 5.5 0.7
B79-0006 M6X1.0 10 13 6 0.8
B79-0008 M8X1.25 12 17 7.5 1.0
B79-0010 M10X1.5 14 19 9 1.2
B79-0012 | M12X1.75 17 24 11 1.4

R H
2008. 1. 15

hH

TRusco SAODIIRR ST

A=/ 0—LI500F vk

B79—-0000




